HEATER SHEET METAL
(SUPPLIED BY OTHER)

TWISTED ELEMENT LEAD
B
A

INSIDE END VIEW

SIDE VIEW

COMPONENTS
A = #10-24X1.75 STAINLESS STEEL BOLT (1)

B = #10 SS FLAT WASHER (2)

C, D = 10-24 SS NUT (3)

E = #10 SS CONCAVE WASHER (2)

F = SMALL CERAMIC BUSHING (1)

G = BUSHING RETAINER CLIP (1)

H = #10STUD/12-10AWG HI-TEMP RING TERMINAL (1)

G (BUSHING RETAINER CLIP)

HI TEMP INSULATED WIRE
(SUPPLIED BY OTHER)

H

C

D |__OUTSIDE END VIEW

NOTE:

IT IS IMPORTANT THAT THE CONCAVE
WASHERS (E) BE SNUGLY NESTED INTO THE
CERAMIC BUSHING (F), BETWEEN NUTS (C &
D). HOWEVER, NUT MARKED (D) SHOULD BE
FINGER TIGHTENED ONLY IN ORDER TO
PREVENT DAMAGE TO BUSHING (F).

TO SECURE RING TERMINAL, HOLD (D) NUT
WITH SMALL WRENCH [ENSURING TENSION ON
CERAMIC BUSHING DOES NOT CHANGE] AND
TIGHTEN (C) NUT AGAINST RING TERMINAL.

I '“ TERM—BOLT—-ASM oo
XX=+4/- 0!13

CORPORATIO

PROPRIETARY AND CONFIDENTIAL USE ONLY!

This document and all accompanying information is proprietary ¢ accompanying information is proprietary and
confidential, belonging to the sender for the sole purpose of
communicating design concepts created by Intek Corporation. Disclosure,
electronic storing, copying or distribution is strictly prohibited!

“ENGINEERING | 'L. RINATI | 06-19-13 ]

l'::TERMINAL BOLT ASSEMBLY| X85

No.

Date

By

Description

A

5-26-17

RJB

Corrected component definitions.

REVISIONS




